SHTEE SKKEHR REER

R K B FlEiR(Rx)]

KEREEE ERE 108 15 : 15 28 35

(mg/L) [[£EERE| EHRE | EARE |2EERE| EARE | BARKRE

1 — MR imisgHi100  PITR 0 0 0 0 0 0

2 KBE mHshaWIEREEY |(BEEd [REEd |RHEET |[BHEd [REET

3 ARIVLRUZDILAEY 0.003 LLF|[ 0.0003 == 0.0003 =

4 KEBRUVZDILEY 0.0005 LLTF|l 0.00005 == 0.00005 =

5 ELURUVOZDIEEY 001 LLF|[ 0.001 #= 0.001 =

6 MRUVZDILEY 001 LLF|[ 0.001 == 0.001 =

7 ERXRUZDIEEY 001 LT[ 0.003 0.003 0.003 0.003 0.003 0.003

8 NfvBLIEEY 005 LLF|[ 0.001 == 0.001 =

9 HIEMERR 004 LIF|[ 0.004 == 0.004 =

10 7o 1eA Ao RUEIES T 0.01 u‘F 0.001 == 0.001 ==

11 MEEEERVERBEEZSR 10 UUTF 0.34 0.48 0.49 0.29 0.34 0.36

12 79RRUVZDILEY 08 LIF 0.05 == 0.05

13 RORRUVZDILEY 1 UTF 0.01 == 0.01

14 MiE{LixF 0.002 LLTF| 0.0001 == 0.0001 *#

151, 4—FF 5> 005 LLF| 0.001 == 0.001 =

YR—1, 2—=900TFLUVRY .

16 2 1 pesrmarsLy 0.04 LLT|[ 0.0001 = 0.0001 =

17 27081432 0.02 LLF| 0.0002 == 0.0002 *#

18 ThZ/00IFLY 0.01 LLF|[ 0.0001 #= 0.0001 =

19 R)yOOITFLY 0.01 LLF|[ 0.0001 == 0.0001 =

20 R 0.01 LLF| 0.0001 == 0.0001 ##

21 1B R 06 LLF 0.07 0.05

22 VO OEERE 002 LLF|[ 0.001 #= 0.001 =

23 /001K L 0.06 LLF|[ 0.0004 0.0003

24 OHOORERE 003 LLF|[ 0.001 == 0.001 =

25 J0OFH/OO0A%Y 0.1 LLF| 0.0021 0.0017

26 R 001 LLF|[ 0.001 == 0.001 =

27 ¥8R)/NO AR 0.1 LLF|[ 0.0046 0.0036

28 RS OO REEEE 003 LLF|[ 0.001 == 0.001 =

29 JOFEDH/OO(Y 003 LLF|[ 0.001 0.0008

30 JAERILL 0.09 LLF|[ 0.0011 0.0008

31 IRILLFILTER 008 LITF| 0.005 == 0.005 *#

32 BIMRUZDIEEY 1 UTF 0.01 == 0.01

33 ZILS=HLRUZDIEEY 02 L\'F 0.01 == 0.01 =

34 BRUVZDIEEY 03 LIF 0.04 0.03 0.02 0.04 0.04 0.04

3B HARVZDIEEY 1 UTF 0.01 == 0.02

36 TRUYLRUZDIEEY 200 L\'F 10.3 10.5

37 IVAVRUVZEDIEAY 005 LIF|[ 0.002 0.002 0.001 0.004 0.004 0.003

38 Bl A 4> 200 LI'F 5 5.4 5.5 49 5.2 5.2

HIVOH LTV HLE .

39 (E ) 300 LIF 39.7 36.7

40 ZZFEIREY 500 LITF 138 139

M LA REEES 02 LL'F 0.01 == 0.01 =

42 SIARID 0.00001 LLTF[[0.000001 0.000001 ##

43 2— AFILAYR)LFA—IL | 0.00001 LLT[0.000001 == 0.000001 ##

44 FEAA L REEES 002 LLF|[ 0.005 *= 0.005 =

45 Jx/—)L3R 0.005 LLF|[ 0.0001 == 0.0001 =

46 fr*fg(%g%’ff) 3 LT 0.1 0.1 *= 0.1 #= 0.1 01 x| 01 #n

47 PHIE 5. 88 6LLF 7.2 7.2 7.2 7.1 7.2 7.1

48 Bk EETHRWIHEELAL [EELL |BELGL [EELGL |EEHL  |BEEAL

49 B% EETHWIHEELAL [EELGL |BEELGL [EELGL |EEHL  |BEEAL

50 B JE 5ELLTF 1 =% 1 % 1 % 1 % 1 % 1 %

51 JBE 2ELLT 0.1 %% 0.1 %% 0.1 = 0.1 = 0.1 x# 0.1




N ; £ K 35 ABl[TERU\iEmE)]
KERAEIER HAE(E 15 B 2H 35
(mg/L) | BERE | ZEARE | EARE | BARE
1 —iRHE imig#gi00  PIR 0 0 0 0
2 KB®E BHShELIEREET [BRHET |[REET [BRHET
3 ARIVLRUZDILAEY 0.003 LIF
4 KEBRUVZDILEY 0.0005 LIF
5 LLURUVOZDIEEY 001 LT
6 MRUVZDILEY 001 LT
7 ERXRUVZDIEEY 001 LT
8 NfvBLIEEY 005 LLF
9 HIEMERR 004 LT
10 7oA+ RUEIEL 7Y 0.01 LI'F
11 MEERERERVERBEESR 10 UUTF 0.48 0.49 0.34 0.36
12 79RRUVZDILEY 08 LIF
13 RORRVZDIEEY 1 UTF
14 MiEILRFE 0.002 LIF
151, 4—FF 5> 005 LIF
YR—1, 2—URAIFLYRY .
rUR—1,2=/O00TFLY 0.04 LUF
17 o400 XA3%Y 002 LIF
18 ThZo00ITFLY 001 LIF
19 N)oZooxTFLY 001 LT
20 R 001 LT
21 1B R 06 LLF
22 VO OEERE 002 LT
23 #AaARIIL L 006 LIF
24 SHOOEEEE 003 LI'F
25 JOFH/OO0A%Y 0.1 LI'F
26 KRR 001 LT
27 #aR)/\OARY 01 LI'F
28 RSO OEEEE 003 LL'F
20 JOFESH/OOARY 003 LIF
30 JAFERILL 009 LIF
31 IRILLFILTER 008 LI'F
32 HEIMBRUZDIEEY 1 UTF
33 ZILE=HLRUZDIEEY 02 LT
34 BRUVZDIEEY 03 LLF 0.04 0.03 0.04 0.05
35 FHEUVZDIEEY 1 UTF
36 TRUYLRUZDIEEY 200 LI
371 IVAVRUVZEDILEW 005 LLF| 0.002 0.001 0.003 0.003
38 Bl A 4> 200 LI'F 5.4 5.5 5.1 5.2
AIVOH LTV LE .
39 (1@ ) 300 LIF
40 ZZFEIREY 500 LITF
M LA REEES 02 LL'F
42 OTAAIY 0.00001 LIF
43 2—AF)LAYRILRA—IL | 0.00001 LLF
44 FEAA L REEES 002 LT
45 2x/—)L5E 0.005 LIF
46 fr*fg(%g%’ff) 3 LT 0.1 *= 0.1 *= 0.1 ## 0.1
47 PH{E 5. 8LIE8. 6T 7.2 7.2 7.3 7.2
48 IR EETHRWIH|EELAL [EELGL  |BEELHL  [BEELL
49 B% EETHRWIH|EELAL [EELGL  |BEELHL  [BEELL
50 B JE 5ELLTF 1 =% 1 % 1 % 1 %
51 BE 2ELLTF 0.1 == 0.1 == 0.1 == 0.1 ==




R K B mUELRR)]

) S F
KERAEIER HAE(E T0H 15 125 = 28 36

(mg/L) [[£EERE| EHRE | EARE |2EERE| EARE | BARKRE

1 — MR imigHi100  PIR 0 0 0 0 0 0

2 KBH mHshaWIEREEY |(BEtEd [REEd |RHEET |[BHEd [REET

3 ARIVLRUZDILAEY 0.003 LLF|[ 0.0003 == 0.0003 =

4 KERUVZDILEY 0.0005 LLTF|l 0.00005 == 0.00005 =

5 ELURUVZDIEEY 001 LLF|[ 0.001 == 0.001 =

6 MRUVZDILEY 001 LLF|[ 0.001 == 0.001 =

7 ERXRUVUZDIEEY 001 LLF|[ 0.003 0.003

8 ANiivaLILEY 0.05 LLTF[ 0.001 = 0.001 =

9 HIHERREER 0.04 LLTF[  0.004 =» 0.004 =

10 7o 1eAA o RUEIES T 0.01 1;L'F 0.001 == 0.001 ==

11 MEERERERVERBEESR 10 UUTF 0.29 0.32 0.3 0.3 0.33 0.31

12 ZVRRUVZDILEY 08 LT 0.05 0.05 *#

13 RVRRUVZDEEY 1 LT 0.01 *# 0.01 *a

14 MiE{LRF 0.002 LLTF|[ 0.0001 == 0.0001 ==

151, 4—SFFHY 0.05 LLF|  0.001 = 0.001 ==

YR—1, 2—URAIFLYRY .

16 2 1 peshmarsLy 0.04 LLF| 0.0001 #= 0.0001 =

17 270814322 0.02 LLF| 0.0002 == 0.0002 *#

18 ThZ/00IFLY 0.01 LLF|[ 0.0001 == 0.0001 =

19 R)yOOITFLY 0.01 LLF|[ 0.0001 == 0.0001 =

20 R 0.01 LLF| 0.0001 == 0.0001 ##

21 1B R 06 LLF 0.06 0.06

22 VO OEERE 002 LLF|[ 0.001 == 0.001 =

23 HOo0OkRILL 0.06 LLF|[ 0.0002 0.0001

24 OHOORERE 003 LLF|[ 0.001 == 0.001 =

25 JOFH/OO0A%Y 0.1 LLF| 0.0007 0.0006

26 X 001 LLF|[ 0001 == 0.001 =

27 ¥AR)/NO AR 0.1 LLF|[ 0.0016 0.0012

28 RSO OEEEE 003 LLF|[ 0.001 == 0.001 =

29 JOFEDH/OO(Y 0.03 LLF|[ 0.0004 0.0003

30 JAEHRILL 0.09 LLF|[ 0.0003 0.0002

31 IRILLFILTER 0.08 LLTF|[ 0.005 == 0.005 *#

32 BIMRUZDIEEY 1 UTF 0.01 == 0.01 =

33 ZILS=HLRUZDIEEY 02 LI'F 0.01 == 0.01 =

34 BRUVZDIEEY 03 LLF 0.01 0.01 0.01 0.01 #= 0.01 0.01 =

3B HARVZDIEEY 1 UTF 0.01 == 0.01 =

36 TRUYLRUZDIEEY 200 L\'F 6.4 6.4

37 IVAVRUVZEDIEAY 005 LIF|[ 0001 ==] 0001 == 0001 ==] 0001=s] 0.001==] 0001z==

38 Bl A 4> 200 LI'F 43 45 49 44 45 4.4

AIVOH LTV LE .

39 (E ) 300 LIF 23 21.7

40 ZZFEIREY 500 LLF 110 108

M LA REEES 02 LL'F 0.01 == 0.01 =

42 OTAARIY 0.00001 LLT/0.000001 = 0.000001 =i

43 2—AF)LAYRILFZA—)L | 0.00001 LLT[[0.000001 == 0.000001 ##

44 FEAA L REEES 002 LLF|[ 0.005 *= 0.005 =

45 Jx/—)L%F 0.005 LLF|[ 0.0001 == 0.0001 =

46 ﬁ*f@%’??f) 3 LT 0.1 %# 0.1 x# 0.1 x# 0.1 x# 0.1%s| 0.1 ==

47 PHIE 5. 88 6LLF 7.2 7.2 7.2 7.2 7.2 7.2

48 IR EETHWIHEELAL [EELL |BEELGL [EELGL |EEHL  |BEEAL

49 B% EETHRWIHEELAL [EELGL |BEELGL [EELGL |EEHL  |BEEAL

50 B JE 5ELLTF 1 =% 1 % 1 % 1 % 1 % 1 %

51 BE 2BLLTF 0.1 == 0.1 == 0.1 0.1 == 0.2 0.1 ==




N ; % K 35 [ XEAE]
KERAEIER HAE(E T0H 15 125 = 28 3H
(mg/L) [[£EERE| EHRE | EARE |2EERE| EARE | BARKRE
1 — MR imigHi100  PIR 0 0 0 0 0 0
2 KBE mHshaWIEREEY |(BEtEd [REEd |RHEET |[BHEd [REET
3 ARIVLRUZDILAEY 0.003 LLF|[ 0.0003 == 0.0003 =
4 KERUVZDILEY 0.0005 LLTF|l 0.00005 == 0.00005 =
5 ELURUVOZDIEEY 001 LLF|[ 0.001 == 0.001 =
6 MRUVZDILEY 001 LLF|[ 0.001 == 0.001 =
7 ERXRUVUZDIEEY 001 LLF|[ 0.001 0.001
8 NfvBLIEEY 005 LLF|[ 0.001 == 0.001 =
9 HIEMERR 004 LLF|[ 0.004 == 0.004 =
10 7o 1eAA o RUEIES T 0.01 lgL'F 0.001 == 0.001 ==
11 MEERERERVERBEESR 10 UUTF 0.21 0.22 0.22 0.22 0.23 0.22
12 79RRUVZDILEY 08 LIF 0.05 == 0.05
13 RORRUVZDILEY 1 UTF 0.01 == 0.01 =
14 MiE{LixF 0.002 LLTF| 0.0001 == 0.0001 *#
151, 4—FF 5> 005 LLF| 0.001 == 0.001 =
YR—1, 2—URAIFLYRY .
16 2 1 peshmarsLy 0.04 LLT|[ 0.0001 = 0.0001 =
17 270814322 0.02 LLF| 0.0002 == 0.0002 *#
18 ThZ/00IFLY 0.01 LLF|[ 0.0001 == 0.0001 =
19 R)yOOITFLY 0.01 LLF|[ 0.0001 == 0.0001 =
20 R 0.01 LLF| 0.0001 == 0.0001 ##
21 1B R 06 LLF 0.05 == 0.05
22 VO OEERE 002 LLF|[ 0.001 == 0.001 =
23 /001K L 0.06 LLF|[ 0.0002 0.0002
24 OHOORERE 003 LLF|[ 0.001 == 0.001 =
25 JOFH/OO0A%Y 0.1 LLF|| 0.0001 0.0003
26 X 001 LLF|[ 0001 == 0.001 =
27 ¥AR)/NO AR 0.1 LLF|[ 0.0006 0.0007
28 RSO OEEEE 003 LLF|[ 0.001 == 0.001 =
20 JOFESH/OOARY 0.03 LLF| 0.0001 == 0.0001 ##
30 JAERILL 0.09 LLF|[ 0.0003 0.0002
31 IRILLFILTER 008 LITF| 0.005 == 0.005 *#
32 BIMRUZDIEEY 1 UTF 0.01 == 0.01 =
33 ZILS=HLRUZDIEEY 02 LI'F 0.01 == 0.01 =
34 BRUVZDIEEY 03 LUTF 0.01 == 0.01 == 0.01 == 0.01 = 0.01 = 0.01 =
3B HARVZDIEEY 1 UTF 0.01 == 0.01 =
36 TRUYLRUZDIEEY 200 L\'F 5.9 6.2
37 IVAVRUVZEDIEAY 005 LIF|[ 0001 ==] 0001 == 0001 ==] 0001=s] 0.001==] 0001z==
38 Bl A 4> 200 LI'F 3.9 3.9 4 4 4 4
AIVOH LTV LE .

39 (E ) 300 LIF 22.3 216
40 ZZFEIREY 500 LITF 98 94
M LA REEES 02 LL'F 0.01 == 0.01 =
42 OTAARIY 0.00001 LLT/0.000001 = 0.000001 =i
43 2—AF)LAYRILFZA—)L | 0.00001 LLT[[0.000001 == 0.000001 ##
44 FEAA L REEES 002 LLF|[ 0.005 *= 0.005 =
45 Jx/—)L%F 0.005 LLF|[ 0.0001 == 0.0001 =
46 fr*fg(%g%’ff) 3 LT 0.1 %# 0.1 x# 0.1 x# 0.1 x# 0.1%s| 0.1 ==
47 PH{E 5. 88 6LLF 75 7.4 7.4 7.4 75 7.4
48 IR EETHWIHEELAL [EELL |BEELGL [EELGL |EEHL  |BEEAL
49 B% EETHRWIHEELAL [EELGL |BEELGL [EELGL |EEHL  |BEEAL
50 B JE 5ELLTF 1 =% 1 % 1 % 1 % 1 % 1 %
51 BE 2ELLTF 0.1 == 0.1 == 0.1 == 0.1 == 0.1 == 0.1 ==




B K 15 A2tk EaR)

) S F
KERAEIER HAE(E T0H 15 125 = 28 3H

(mg/L) [[£EERE| EHRE | EARE |2EERE| EARE | BARKRE

1 — MR imigHi100  PIR 0 0 0 0 0 0

2 KBH mHshaWIEREEY |(BEtEd [REEd |RHEET |[BHEd [REET

3 ARIVLRUZDILAEY 0.003 LLF|[ 0.0003 == 0.0003 =

4 KERUVZDILEY 0.0005 LLTF|l 0.00005 == 0.00005 =

5 ELURUVOZDIEEY 001 LLF|[ 0.001 == 0.001 =

6 MRUVZDILEY 001 LLF|[ 0.001 == 0.001 =

7 ERXRUVUZDIEEY 001 LLF|[ 0.002 0.002

8 NfvBLIEEY 005 LLF|[ 0.001 == 0.001 =

9 HIEMERR 004 LLF|[ 0.004 == 0.004 =

10 7o 1eAA o RUEIES T 0.01 lgL'F 0.001 == 0.001 ==

11 MEERERERVERBEESR 10 UUTF 0.02 0.02 0.02 0.02 0.02 0.02

12 79RRUVZDILEY 08 LIF 0.05 == 0.05

13 RORRUVZDILEY 1 UTF 0.01 == 0.01 =

14 MiE{LixF 0.002 LLTF| 0.0001 == 0.0001 *#

151, 4—FF 5> 005 LLF| 0.001 == 0.001 =

YR—1, 2—URAIFLYRY .

16 2 1 pvrmmtaiy 0.04 LLF| 0.0001 *= 0.0001 =

17 o7080X4%Y 0.02 LLF|[ 0.0002 #= 0.0002 =

18 ThZ/00IFLY 0.01 LLF|[ 0.0001 == 0.0001 =

19 k)OO IFLY 0.01 LLF|[ 0.0001 == 0.0001 =

20 R 0.01 LLF| 0.0001 == 0.0001 ##

21 1B R 06 LLF 0.05 == 0.05

22 VO OEERE 002 LLF|[ 0.001 == 0.001 =

23 /001K L 0.06 LLF|[ 0.0003 0.0002

24 OHOORERE 003 LLF|[ 0.001 == 0.001 =

25 oJOFE/OOAZY 0.1 LLF|| 0.0001 == 0.0001 ##

26 X 001 LLF|[ 0001 == 0.001 =

27 ¥AR)/NO AR 0.1 LLF|[ 0.0004 0.0002

28 RSO OEEEE 003 LLF|[ 0.001 == 0.001 =

20 JOFESH/OOARY 0.03 LLF| 0.0001 == 0.0001 ##

30 JAEHRILL 0.09 LLF|[ 0.0001 == 0.0001 =

31 IRILLFILTER 0.08 LLTF|[ 0.005 == 0.005 *#

32 BIMRUZDIEEY 1 UTF 0.01 == 0.01 =

33 ZILS=HLRUZDIEEY 02 LI'F 0.01 == 0.01 =

34 BRUVZDIEEY 03 LUTF 0.01 == 0.01 == 0.01 == 0.01 = 0.01 = 0.01 =

3B HARVZDIEEY 1 UTF 0.01 == 0.01 =

36 TRUYLRUZDIEEY 200 L\'F 6.5 6.5

37 IVAVRUVZEDIEAY 005 LIF|[ 0001 ==] 0001 == 0001 ==] 0001=s] 0.001==] 0001z==

38 Bl A 4> 200 LI'F 3.8 3.8 3.8 3.8 3.9 3.8

AIVOH LTV LE .

39 (E ) 300 LIF 20.8 20.6

40 ZZFEIREY 500 LITF 106 103

M LA REEES 02 LL'F 0.01 == 0.01 =

42 OTAARIY 0.00001 LLT/0.000001 = 0.000001 =i

43 2—AF)LAYRILFZA—)L | 0.00001 LLT[[0.000001 == 0.000001 ##

44 FEAA L REEES 002 LLF|[ 0.005 *= 0.005 =

45 Jx/—)L3R 0.005 LLF|[ 0.0001 == 0.0001 =

46 fr*fg(%g%’ff) 3 LT 0.1 %# 0.1 x# 0.1 x# 0.1 x# 0.1%s| 0.1 ==

47 PHIE 5. 88 6LLF 7.8 7.8 7.8 7.7 7.9 7.8

48 IR EETHWIHEELAL [EELL |BEELGL [EELGL |EEHL  |BEEAL

49 B% EETHRWIHEELAL [EELGL |BEELGL [EELGL |EEHL  |BEEAL

50 B JE 5ELLTF 1 =% 1 % 1 % 1 % 1 % 1 %

51 BE 2ELLTF 0.1 == 0.1 == 0.1 == 0.1 == 0.1 == 0.1 ==




E K B R (RR)]

) S F
KERAEIER HAE(E 15 125 28 35

(mg/L) | BERE | ZEA%E | EARE | BARE

1 —iRHE imig#gi00  PIR 0 0 0 0

2 KB®E BHShELIEREET [BRHET |[REET [BRHET

3 ARIVLRUZDILAEY 0.003 LIF

4 KEBRUVZDILEY 0.0005 LIF

5 LLURUVOZDIEEY 001 LT

6 MRUVZDILEY 001 LT

7 ERXRUVZDIEEY 001 LT

8 NfvBLIEEY 005 LLF

9 BIEHMEER 004 LT

10 7oA+ RUEIEL 7Y 0.01 LI'F

11 MEERERERVERBEESR 10 UUTF 0.48 0.5 0.35 0.36

12 79RRUVZDILEY 08 LIF

13 RORRVZDIEEY 1 UTF

14 MiEILRFE 0.002 LIF

151, 4—FF 5> 005 LIF

YR—1, 2—URAIFLYRY .

16 rUR—1,2=/O00TFLY 0.04 LUF

17 o400 XA%Y 002 LIF

18 ThZo00ITFLY 001 LIF

19 N)oZooxTFLY 001 LT

20 R 001 LT

21 1B R 06 LLF

22 VO OEERE 002 LT

23 yO007KJ)L.A 0.06 LLF

24 SHOOEEEE 003 LI'F

25 JOFH/OO0A%Y 0.1 LI'F

26 X 001 LT

27 #aR)/\OARY 01 LI'F

28 RSO OEEEE 003 LL'F

20 JOFESH/OOARY 003 LIF

30 JAFERILL 009 LIF

31 IRILLFILTER 008 LI'F

32 HEIMBRUZDIEEY 1 UTF

33 ZILE=HLRUZDIEEY 02 LT

34 BRUVZDIEEY 03 LLF 0.03 0.02 0.05 0.05

35 FHEUVZDIEEY 1 UTF

36 TRUYLRUZDIEEY 200 L\'F

31 IVAVRUVZEDILEW 005 LIF|| 0.002 0.001 0.004 0.004

38 Bl A 4> 200 LI'F 5.4 5.6 5.2 5.1

AIVOH LTV LE .

39 1@ ) 300 LT

40 ZZFEIREY 500 LITF

M LA REEES 02 LL'F

42 OTAARIY 0.00001 LIF

43 2—AF)LALIRILRA—)L 0.00001 LI

44 FEAA L REEES 002 LT

45 2x/—)L5E 0.005 LIF

46 fr*fg(%g%’ff) 3 LT 0.1 *= 0.1 #= 0.1 ## 0.1

47 PHIE 5. 88 6LLF 7.3 7.4 7.3 7.2

48 IR EETHRWIH|EELAL [BEELGL |EEHL [BEE4LL

49 B% EETHRWIH|EELAL [BEELGL |E2EHL [BEE4L

50 & 5ELLT 1 = 1 = 1 %% 1 %%

51 & B 2ELLT 0.1 0.1 = 0.1 0.1 =




% K 5 mrlmE eI )

) S F
KERAEIER HAE(E 108 115 125 = 28 3H

(mg/L) [[£EERE| EHRE | EARE |2EERE| EARE | BARKRE

1 — MR imigHi100  PIR 0 0 0 0 0 0

2 KBH mHshaWIEREEY (BEtEd [REEd |RHEET |(BHEEd [REET

3 ARIVLRUZDILAEY 0.003 LLF|[ 0.0003 == 0.0003 =

4 KERUVZDILEY 0.0005 LLTF|l 0.00005 == 0.00005 =

5 ELURUVZDIEEY 001 LLF|[ 0.001 == 0.001 =

6 MRUVZDILEY 001 LLF|[ 0.001 == 0.001 =

7 ERXRUVUZDIEEY 001 LLF|[ 0.001 0.001

8 NfvBLIEEY 005 LLF|[ 0.001 == 0.001 =

9 HIEMERR 004 LLF|[ 0.004 == 0.004 =

10 7o 1eAA o RUEIES T 0.01 lgL'F 0.001 == 0.001 ==

11 MEERERERVERBEESR 10 UUTF 0.21 0.22 0.22 0.22 0.23 0.23

12 ZVRRUVZDILEY 08 LT 0.05 0.05 *#

13 RVRRUVZDILEY 1 UTF 0.01 0.01 *#

14 MiE{LRF 0.002 LLTF|[ 0.0001 == 0.0001 ==

151, 4—SFFHY 0.05 LLF|  0.001 = 0.001 ==

YR—1, 2—URAIFLYRY .

16 2 1 peshmarsLy 0.04 LLF| 0.0001 #= 0.0001 =

17 270814322 0.02 LLF| 0.0002 == 0.0002 *#

18 ThZ/00IFLY 0.01 LLF|[ 0.0001 == 0.0001 =

19 R)yOOITFLY 0.01 LLF|[ 0.0001 == 0.0001 =

20 R 0.01 LLF| 0.0001 == 0.0001 ##

21 1B R 06 LLF 0.05 == 0.05

22 VO OEERE 002 LLF|[ 0.001 == 0.001 =

23 HOo0OkRILL 0.06 LLF|[ 0.0002 0.0002

24 OHOORERE 003 LLF|[ 0.001 == 0.001 =

25 JOFH/OO0A%Y 0.1 LLF|| 0.0002 0.0003

26 X 001 LLF|[ 0001 == 0.001 =

27 ¥AR)/NO AR 0.1 LLF|[ 0.0009 0.0008

28 RSO OEEEE 003 LLF|[ 0.001 == 0.001 =

20 JOFESH/OOARY 0.03 LLF| 0.0001 == 0.0001

30 JAEHRILL 0.09 LLF|[ 0.0005 0.0002

31 IRILLFILTER 0.08 LLTF|[ 0.005 == 0.005 *#

32 BIMRUZDIEEY 1 UTF 0.01 == 0.01 =

33 ZILS=HLRUZDIEEY 02 LI'F 0.01 == 0.01 =

34 BRUVZDIEEY 03 LUTF 0.01 == 0.01 == 0.01 == 0.01 = 0.01 = 0.01 =

3B HARVZDIEEY 1 UTF 0.01 == 0.01 =

36 TRUYLRUZDIEEY 200 L\'F 5.9 6.2

37 IVAVRUVZEDIEAY 005 LIF|[ 0001 ==] 0001 == 0001 ==] 0001=s] 0.001==] 0001z==

38 Bl A 4> 200 LI'F 3.9 3.9 4 4 4.1 4

AIVOH LTV LE .

39 (E ) 300 LIF 22.1 21.9

40 ZZFEIREY 500 LITF 96 93

M LA REEES 02 LL'F 0.01 == 0.01 =

42 OTAARIY 0.00001 LLT/0.000001 = 0.000001 =i

43 2—AF)LAYRILFZA—)L | 0.00001 LLT[[0.000001 == 0.000001 ##

44 FEAA L REEES 002 LLF|[ 0.005 *= 0.005 =

45 Jx/—)L%F 0.005 LLF|[ 0.0001 == 0.0001 =

46 fr*fg(%g%’ff) 3 LT 0.1 %# 0.1 x# 0.1 x# 0.1 x# 0.1 x# 0.1 x#

47 PHIE 5. 88 6LLF 7.4 7.4 7.4 7.2 7.4 7.1

48 IR EETHWIHEELAL [EELGL |BEELGL [EELGL |EEHL  |EEAL

49 B% EETHRWIHEELAL [EELGL |BEELGL [EELGL |EEHL  |BEEAL

50 B JE 5ELLTF 1 =% 1 % 1 % 1 % 1 % 1 %

51 BE 2ELLTF 0.1 == 0.1 == 0.1 == 0.1 == 0.1 == 0.1 ==




